e
T
=
P
P
I
02

Al A

20148 & =04k LBHSIH ASA s
SN WSS
a: UYL YAH (HBYSI D)
Sel: o2y (B9 ®R)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
T =T 42,028,580 34,112,657 7,915,923
2 17,828,422
& 1,100,000
| 3,986,068
& 266,240
< 2,166,012
s 16,681,838
HH2HAZH (HSE =T 1) 206,360 197,540 8,820
ol 2d | 113,124 105,697 7,427
ol Al 113,124 105,697 7,427
101 @124l 108,924 101,497 7,427
01 2=+ 96,281 82,142 14,139
OAN2LA2RY FHZ(22F) 23,797
— 5= 11,3643 x 1 10AI 2t % 12E 1,364
— 6= 9,692& «6H *10Al 2tx12& 6,979
—7= 8,754 *13H »10Al 2tx 12 13,657
— 8= 7,860& x1H x10A| 2tx12& 944
— 9= 7,104 1H «10Al 2tx 123 853
O=l22a4 8,754 x23%H *30Al 2t x12& 72,484
02 JIEH & 2+ 12,643 19,355 NG, 712
OZU=F9 A 12,643
—ANAAZ 2L (FHZ)
6,478 x1H «10Al 2t+ 123 778
—=U2FRE 6,478 x2ZH x30Al 2tx 12 4,665
— Yoo 600,000& x1H x12& 7,200
203 &R =T Y| 4,200 4,200 0
04 FN2ELRZ=TH| 4,200 4,200 0
ORAN2EIRFEHI 350,000& 128 4,200
JlEZ3l 93,236 91,843 1,393
Jl2&l 93,236 91,843 1,393
201 2ot 2 Y| 45,616 47,713 ~2,097
01 At 22l 43,879 43,127 752
Odet=EH| SHAA 21,449
O=&tHl SUA & 22,430
02 22224l 1,737 4,586 A2,849
Oz3&82= & HA 1,737
— & B4ty ZASYN 2ELSH
1,930& »900& 1,737
202 odl 45,620 43,630 1,990
01 = LHA YI 45,620 43,630 1,990
O30 (&) 30,500
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SN WSS
M HHR2YIU(ASE=sT )
& 123l (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O=Uoitgl(22l) 15,120
405 XtAtE SHI 2,000 500 1,500
01 AL EFH S 2,000 500 1,500
OYBDOIEYATERE) 2
2,000, 000% *1CH 2,000
SYUsEQ H2AE S 40,591,220 33,055,117 7,536,103
= 17,828,422
= 100,000
J| 3,986,068
& 266,240
< 2,082,012
s 16,328,478
sHsES MaD|gt Al K& 577,128 551,323 25,805
= 100,000
J| 27,941
< 5,320
[ia 443,867
sHE &EJI3 K& 337,187 355,500 A 18,313
306 =432 132,500 132,500 0
01 &3 132,500 132,500 0
OsHETEI=EHS 132,500
308 XX EHH SOl A 204,687 223,000 A 18,313
05 HXNHMARE = 204,687 223,000 A 18,313
sTAEENZ OIXNEE RES 204,687
SEMEls =48 ¢ 29 173,000 168,778 4,222
& 100,000
s 73,000
201 Let24] 20,000 0 20,000
01 At 2t 2l 20,000 0 20,000
OsHEMEFLO0IS 2F 243 XNIAAMY 20,000
402 RIZ2HXt20l ™ 153,000 142,858 10,142
& 100,000
i 53,000
01 QIZERI 22X 153,000 142,858 10,142
OsHENEFL0E AE HE= X3 A
10,000,000 =10 A 10,000
O=sMsEXME0Es =4AY 143,000
& 100,000
s 43,000
SKOIES&E 2el XA 27,941 27,045 896
J| 27,941
101 @14 dl 25,817 25,151 666
J| 25,817
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SN WSS
HE: sAsE0 4E B4
2 sPsEQ MAIIE AL X& (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
04 JI2ZtHZ22HEE =+ 25,817 25,151 666
OsXNOoIEAMH AR (1Y) 25,817
J| 25,817
201 Let4d] 2,124 1,894 230
J| 2,124
01 At 22l 2,124 1,894 230
O=sXO0lSAEHEZ AL 2,124
J| 2,124
sEMENE 22 X3 (XHA) 21,600 0 21,600
307 glz2tol & 21,600 0 21,600
02 RIZHENEXS 21,600 0 21,600
OsHEMEZF20IE MR2E HEXH
600,000& x3H «12& 21,600
sEMENE 22 XNE(BX) 17,400 0 17,400
< 5,320
s 12,080
201 £B-2dH| 3,000 0 3,000
< 1,000
s 2,000
01 At 22l 3,000 0 3,000
OsZEdEis s22 24X 3,000
< 1,000
[ia 2,000
307 glz2+ol & 14,400 0 14,400
< 4,320
s 10,080
02 B AEXS 14,400 0 14,400
OsHENES20IS2 2L0MHUM X&
1,200,000 128 14,400
< 4,320
[ia 10,080
=gol H4oE g 2,756,760 2,483,804 272,956
= 1,470,854
& 266,240
< 343,880
e 675,786
sgoty 8i=2 XNE(HS) 446,500 411,000 35,500
& 250,040
< 98,230
i 98,230
301 et a = 446,500 411,000 35,500
& 250,040
= 98,230
i 98,230
02 Hetz Ltttz 446,500 411,000 35,500
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2N
X ZH -
L= B

el

o 0x
]

[Q [ i

o o o¥

o O
U

-

O Of =
10

A gz

0
oo
0

m

0

[P

10

0

C
x
bl
):‘I:l
0
40
o
=
=
C
=
11}
(e
0x
Jo

Off &t 24

=

M
2Hm
==
£l
Ol
0y

O
O
Qe
e
=
i

stz XA (470%) 446,500
250,040
98,230
98,230

A A

SHEESHAMN LAY 211,200 200,640 10,560
99,264
49,843
62,093

HoH W

307 glztol & 211,200 200,640 10,560
99,264
49,843
62,093

UL RN

X3 211,200 200,640 10,560
OsHESSUAM SE2R222(160Y) 211,200
99,264

49,843
62,093

Mo R

st=<0 XN& 21,600 27,360 N5,760
16,200
2,700
2,700

M H AL

307 21201 & 21,600 27,360 N5,760
16,200
2,700
2,700

M A

02 QIZtFAE XS 21,600 27,360 A5,760
S0l XNEAE(15%) 21,600

16,200
2,700
2,700

A H A

sdZEALE N 72,000 60,000 12,000

43,200
14,400
14,400

U AT

307 glztol & 72,000 60,000 12,000

43,200
14,400
14,400

A

= 72,000 60,000 12,000
28 XA 72,000
43,200

14,400
14,400

A

rx
A
O
e
o
%
fo
e
1

34,000 34,000 0

202 Oddl 2,000 2,000 0

04 =H=t0d bl 2,000 2,000 0
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SN WSS
HE: sAsE0 4E B4
Sol AU =80l SAS2 M EERED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
o 56,000
OfF& &3 =& 120,000, 000& *2CH *50% 120,000
= 36,000
s 84,000
OZAYHII(Lorsd])
200,000,000& =1CH x50% 100,000
< 30,000
s 70,000
OZAYHMI(ZHAELI)
200,000,000& =1CH x50% 100,000
< 30,000
s 70,000
O2gsIIA 2,000,000& =27 CH x50% 27,000
< 8,100
[ia 18,900
OEsstts =4 1,000, 000& *50ha*50% 25,000
< 7,500
s 17,500
2= AEAM 1,676,409 11,370 1,665,039
= 1,676,409
201 Let24dy] 3,570 3,570 0
= 3,570
01 At 2teltl 3,570 3,570 0
OLsHAEN 29 3,570
= 3,570
202 O4dl 7,800 7,800 0
= 7,800
01 = LH 4 Hi 7,800 7,800 0
OZsgaEN aa3xE(s8H) 3,300
= 3,300
ORsAXNEH AFT(2F) 4,500
= 4,500
301 g2 L= 1,665,039 0 1,665,039
= 1,665,039
1MIIEBESS 1,665,039 0 1,665,039
OgdsgA=H 1,665,039
= 1,665,039
E2EHESHAY 150,000 0 150,000
402 2I2H X201 M 150,000 0 150,000
01 RIZEAI2E X 150,000 0 150,000
Oo&IedHESsd NIFAMY
150,000, 000& *2CH x50% 150,000
TEE SHE =0 Mat 7,733,474 6,782,177 951,297
= 3,898,455
< 921,285
s 2,913,734
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SN WSS
HE: sAsE0 4E B4
Sol HEH SAS SO M EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
EZMNEH 2= 1,626,507 809,500 817,007
= 1,138,556
< 146,385
s 341,566
402 RI2EX=20l A 1,626,507 809,500 817,007
= 1,138,556
< 146,385
s 341,566
01 RIZERI2E X 1,626,507 809,500 817,007
OEL MM 1,626,507
= 1,138,556
= 146,385
s 341,566
NEEsHE Mo &X =4 140,000 100,000 40,000
301 et a =z 140,000 100,000 40,000
MIIEBE4d3 140,000 100,000 40,000
OMEaZe|da Feig K&
200,000& x700ha 140,000
=HI&E S XS 264,025 352,400 A 88,375
= 105,610
[ 158,415
402 RIZ2ERt20l ™ 264,025 352,400 A 88,375
= 105,610
e 158,415
01 RIZERI 22X 264,025 352,400 A 88,375
O=tHl&=E SAUHAZ 264,025
= 105,610
s 158,415
HEBssE8 Ml =4 737,640 670,040 67,600
201 Let24d] 3,000 2,000 1,000
01 At 22l 3,000 2,000 1,000
Oz edsg=a &8 M=E
5,000& «4& 10004 2,000
Ozed sl M=E 1,000& *1,000% 1,000
202 O4dl 1,440 1,440 0
01 = LH 4 bl 1,440 1,440 0
OREF=Y N4y U NEHY
60,0003 x3H 8 1,440
203 YR =&l 10,000 10,000 0
03 AIMZ=XH R =AH| 10,000 10,000 0
OFSBASHAL =7 S 10,000
301 et a = 593,600 548,600 45,000
09 &AL HI B &S 3,600 3,600 0
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SN WSS
HE: sAsE0 4E B4
Sol HEH SAS SO M EERED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Ox3d=sd d&RX AE 60,000& »40H 2,400
ONEZ=Y U8 U WY DR
60,000& »20H 1,200
1MIIEELES 590,000 545,000 45,000
OrEd =42 IE 4234 24
10,000& = 1,300ha 13,000
OB =HIRS A2H| B4
300,000& =1, 300ha*50% 195,000
ORSZDZHM MACT ASTHY 2T X
el 300,000& =1, 140ha 342,000
OrESBDFMEESX =4 2,000,000 *20ha 40,000
402 RIZ2EX201 A 129,600 108,000 21,600
01 RIZEAIZ2E X 129,600 108,000 21,600
O sgHXl SsYHH &
54,000& *3,000ha*80% 129,600
dEd s A=A 969,000 735,880 233,120
= 969,000
301 et d = 969,000 735,880 233,120
= 969,000
NMJIEEd=S 969,000 735,880 233,120
OzeZ=g=EXEM(1,700ha) 969,000
= 969,000
Etd setE AsSXA 506,800 374,000 132,800
< 127,200
e 379,600
301 et a = 496,800 350,000 146,800
< 124,200
s 372,600
MIIEEd=3 496,800 350,000 146,800
Oz eds¢ts S (980H) 496,800
< 124,200
s 372,600
402 RIZEXtE0| A 10,000 24,000 A 14,000
= 3,000
s 7,000
01 22X 2E X 10,000 24,000 A 14,000
OXSZMEHHR L (50HL) 10,000
< 3,000
e 7,000
sy 2Adixd 616,000 1,585,500 A 969,500
= 616,000
301 et 8= 616,000 1,417,500 A 801,500
= 616,000
NJEEd=s 616,000 1,417,500 A 801,500
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FN: HEIsEL
B sosE0 HOE B4
Sl AEY SAMS S M (B9 ®R)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Oodadsgeixyd 616,000
< 616,000
FIIZHl S MR 2,691,669 1,742,500 949,169
= 1,682,289
= 1,009,380
402 RIZ2HXt20l ™ 2,691,669 1,742,500 949,169
= 1,682,289
[ia 1,009,380
01 2I2tR2E X 2,691,669 1,742,500 949,169
ORIIEH =X & (20,839€) 2,691,669
= 1,682,289
e 1,009,380
AE SEN BN S 4,840 2,000 2,840
= 2,420
[ia 2,420
201 Yer2 | 4,840 2,000 2,840
< 2,420
s 2,420
01 At 22l 4,840 2,000 2,840
OXgtdsdts 88 - A& BAUAXE
2,420,000 *201 2 4,840
< 2,420
s 2,420
HEdsits dFsABA A 28,100 6,232 21,868
< 8,430
s 19,670
301 gtE 4= 28,100 6,232 21,868
< 8,430
s 19,670
1MIIEBELS 28,100 6,232 21,868
OTSHASME BRI SAAAXR(112A) 28,100
< 8,430
s 19,670
HMERNE s lS2H XA 65,000 66,500 A 1,500
< 19,500
e 45,500
402 RIZER 201 A 65,000 66,500 A 1,500
< 19,500
e 45,500
01 RIZEAt2E X 65,000 66,500 A 1,500
OdEIHZ P=AoiS LM X R (18ha) 65,000
< 19,500
s 45,500
s RE AL 7,500 0 7,500
= 3,000
< 1,350
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2N
X ZH -
L= B

el

Off &t 24

=

i
2m

HJ

3,

150

402

Mo A

7,
3,
1,
3,

500
000
350
150

7,500

01

HH A

7,
7,
3,

1,
3,

500

500
000
350
150

7,500

76,

393

76,393

76,

393

76,393

125% 611,137 2 CH

76,

76,

393

393

76,393

NS

1,057,
200,
30,
109,
717,

575
000
000
694
881

1,759,176

A701,601

M

151,

50,
101,

875

194
681

79,026

72,849

Mo

151,

50,
101,

875

194
681

79,026

72,849

EURLY

M

161,
13,
4,
9,
138,

,000
,000

46
92

875
875

194
681
000

79,026

72,849

ANEZ0 QUK EZAAERS

A

500
200

30
270

,000
,000
,000
,000

780,000

A 280,000

402

o
N

[
r

=0l d

Mo H

500
200

30
270

,000
,000
,000
,000

780,000

A 280,000

01

(m]
u
-
e
H
P

O
=
b
o
2
0o
>
.
rx

(LBrAGIAIE)

MR

500

250,
100,

15,
135,

,000

000
000
000
000

780,000

280,000
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SN WSS
HE: sAsE0 4E B4
Sol: SERU0 L ABIHSEX X4 CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OANERUHBENE (RUAZEX) 160,000
= 60,000
< 9,000
s 81,000
OANEZSUSENMNL(LF BIJHEAIE) 100,000
= 40,000
< 6,000
e 54,000
HOHSH 2S8= 8o 54 266,700 352,750 86,050
202 Oddl 1,200 1,200 0
01 = LH o4 1l 1,200 1,200 0
ORUER ARz=8 60,000 *2H 102 1,200
301 et A=z 2,400 2,400 0
09 &AL HI B &S 2,400 2,400 0
OFTAIE J0EH W= 60,000 »40H 2,400
402 QI2H X201 M 263,100 349,150 286,050
01 QIZEAt =282 X 263,100 349,150 A 86,050
Ogo=x M=ot 2&dY XA
680, 000& *90ha x50% 30,600
Oo2C=+==2 XA 20,000
OSMAS DAtel HHHEX =4
15,000, 000& *5ha x50% 37,500
otsa 48 Hdot2As XA
2,000,000& *100= *50% 100,000
OCHIt THEHE X =& 30,000& *5,000CH *50% 75,000
FTADI S MAAIE S USHALY 75,000 62,500 12,500
J| 30,000
< 13,500
s 31,500
402 RI2HXt20l 75,000 62,500 12,500
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OFHMS olges JA(HY=s)
2,000 *314,5625 *50% 314,562
= 222,942
< 27,486
e 64,134
402 RIZFX201 A 157,200 139,800 17,400
= 78,600
< 23,580
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01 RIZEAI2E X 157,200 139,800 17,400
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120,000& x190= 22,800
< 7,600
[ia 15,200
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J| 30,000
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J| 30,000
s 90,000
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OXZAMZ M4 JIAHEH K&
150,000, 000& *2set*40% 120,000
J| 30,000
s 90,000
StNeFSAXA 148,770 126,977 21,793
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< 29,754
[ia 29,754
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J| 89,262
< 29,754
[ia 29,754
02 2B AEXS 148,770 126,977 21,793
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2,000 =1,0000H 2,000
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02 2324 7,022 7,022 0
O XH&| 7,022
—JIE SN (AS™EBS) 3,315,000 «10H 3,315
—JI= goxta(ss) 3,707,000 ~1CH 3,707
202 044l 1,200 600 600
1 =2 Wl 1,200 600 600
O seY M2 =4 20,0003 x3H 10 600
ST =9 A (U] 20,0003 x1H *30 600
206 M = Hl 47,500 42,500 5,000
01 M =4l 47,500 42,500 5,000
QI=dEY HYUgE R (H HFHSY)
20 x750,000%= 15,000
ONEFYY 2 ASUE 7Y
25,000& *500kg 12,500
OAN B24detdE HE IR 1,000,000 x5 5,000
OFME HLES JIXM 3,000,000 x5 = 15,000
301 et A2 217,300 216,600 700
11 J|EtE A2 217,300 216,600 700
OJI= Z2HM HI ==X 24t 50,000 *505% 2,500
A B4t HEY 7,000& 500 *12& 42,000
OJI=- Al=HI(EEMIISNL 48)
33,0002 *12,0005% 36,000
OFHME MEXEE Al=HI(AAl)
3,0008 1,800 *12& 64,800
OFHME MUXEE Al=HI(LH)
33,0008 x12, 0005 *23l 72,000
402 SI2FXHE20| & 25,000 75,000 A 50,000
01 QI2tXE8 X 25,000 75,000 A 50,000
Oa A {fgsE XA
10,000 *5, 0005 *50% 25,000
FSMNE MM Y KE 2435 17,200 17,200 0
301 et A= 2,200 2,200 0

- 3583 -




SN WSS
HE: sAsE0 4E B4
el B4 ZM U (sl &2)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
09 HAIAHIBEAZ 2,200 2,200 0
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50,000 20 1,000
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307 2izto| A 15,000 15,000 0]
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O =428 Bge 8
5,000, 000& *43| x50% 10,000
O=EAEEYWE HAEIH(BES) &I
5,000, 000& *x23| x50% 5,000
HECZIAME A Y 0|2 32,400 37,400 A5,000
301 LBt A= 2,400 2,400 0
09 SHAIAHI E A2 2,400 2,400 0
OF&sIt M2 L& HAX A
60,000& x40 2,400
402 SI2FXHE0| & 30,000 35,000 A5,000
01 Q228X 30,000 35,000 A5,000
OFSE2 A2 Hiedl XN
12,000, 000 *5CH *50% 30,000
FShEFMYE 23 511,950 431,730 80,220
202 044l 1,200 1,200 0]
01 2L I 1,200 1,200 0
OHBAZMN METIS NEB4E
60,0003 x2H 10 1,200
301 et A= 58,750 0 58,750
11 JIEtE A2 58,750 0 58,750
Ol MA XA 75,000 4505 33,750
oA HA X 500,000 * 1005 *50% 25,000
402 SI2tXHE0| & 452,000 393,000 59,000
01 QI2tXE8 X 452,000 393,000 59,000
O=EMEH X 120, 0002 *2503| *50% 15,000
OrEAH ElMAL I (2H, S8
150,000 *1,500= *50% 112,500
Ottt 2x=3H I 10,000€ *12, 0005 120,000
OFAH &Z2D X & 300,000 *50CH *50% 7,500
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6,000, 000& 244 &~ *50% 72,000
OZd &2) 23 1,000,000 *10CH *50% 5,000
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J| 9,000
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< 47,400
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e 110,600
MIIEE4d3 158,000 86,900 71,100
OHEBBEMES ZH X
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[ia 110,600
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308 XXM SOIA 307,500 307,500 0
05 HXSHHMAURE = 307,500 307,500 0
Odctg sMEMs4lla 24 RE=S 307,500
HACCP XI & XI & 11,200 0 11,200
J| 6,400
< 1,440
[ia 3,360
402 RI2EXt20| ™ 11,200 0 11,200
J| 6,400
= 1,440
= 3,360
01 22X 2E X 11,200 0 11,200
OHACCP X=X & 11,200
J| 6,400
< 1,440
e 3,360
BHEENM E4 85,900 85,500 400
201 LB-2d | 400 0 400
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Oade 2az2 Id 252,290

- 356 -




_.a
ok
aJ

<0
00
g

s ~0

=

R0 oT o,

o W 2

7o o "

w &l <J

") HO K

X & oF

IF R0 OJ

o o o < [©)NN Ne)]
S~z = 813
- o | < |5 5 e
Ko 8| & ¥ R R
E
o
o o o o
g S S
© © ©
()] [&>] D
LH3r
uild]
RS
O O AN o O O o O O | o o O O < (o) Ne)] —
2ENISRE|EREE BREIS|ZIE28: § § €85-R88 § FE BE3282 (8|8 88
Cdglsoc|lsogols Soc|lg|ilFFBS S © & - <Yeog 4 < S-a<o|glssa
= @ ger|Ig|d|g 3 e © @ N < O — N © || © o
- NN — | |]d & —
<
=3
LG W W W
i m s 5 o Bd 0w B B ol o B oa
il B g g g&¥re ¥ 3 3 gaygetd
" ﬂ R N ox o x o xoxog o
" 8 % Yy cocy B OF AAS g
) 80 g € 2 T 8% a € 5 ¢¢8E3
) K] 8 & &5 ®HE-S y§ 2 5 ®® g3
X o 2 92 s3855 5 % 2 2887
S o X X IF 35 - © oJ X * S 8 YT & 8
3] S YA AW AN oo @ R I o =
= o = o o~ — S
= g ®m T Aas et " S W T WG W e 8 3 _
I+ 0 S 5% o ~ S o Mo I 0
= 8 g Al o Wa o W <+
o T3 ENE 5&%0 . )
= &+ + o oI T2 m W =
= o = o< DO ¢ 50
Gl o % m ok D Mo
= - m <+ v m < oo w5 _ "
0F <0 0 K - | ok Rr - 8
X < - nl 3l W Kk S o e
By R |- |- < 00 o OH
& Hr wl ol o | 2= C Co w om0
i F ol ) RV ! o
R0 ol = ﬂ_ 3 |= @%_
o o1 — — < — | < =<
() —
T <k s = =
I+ M0 =]

- 357 -




SN WSS
A =QsE0 HOF B
Crels meh AW Y3l (el @)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
— S0t 22X 0II=8l 250,000 %3021 x23] 1,500
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— A&EHEHl X4l 5,000
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— 2 MolEE 550,000& *105 5,500
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— OtEAIE 1,500& 105 *6kg*365 32,850
— A= 800& * 105 *7kg*365! 20,440
o —1-1 3503 105 *10kg*365 12,775
— 2 =X 180,000& x105 *12& 21,600
- o= 50,0003 *105*12& 6,000
— &0t Mg 25 HH| 300,000& *30H 9,000
O 224l 7,000,000& *105 70,000
401 Al HI L 2T 250,000 0 250,000
01 Al& bl 250,000 0 250,000
O&0HE 22X =i 2 S 250,000
405 XhAHE S| 50,000 0 50,000
01 JHM = ZF SHI 50,000 0 50,000
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O=0HE HE 23D 5,000
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& 3,915
= 5,220
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& 3,915
= 5,220
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01 2l 28X 165,690 58,360 107,330
O o s = E=PNEE 165,690
ANEE =
170,000& *x2,590ha*30% 132,090
J| 132,090
a2 Y 100,000 =1, 120 *30% 33,600
J| 33,600
AMNE SRSHH XNSAY 1,738,000 0 1,738,000
J| 869,000
= 869,000
402 SI2FXHE0| & 1,738,000 0 1,738,000
J| 869,000
= 869,000
01 @l 282X 1,738,000 0 1,738,000
OxXAMNE FSHH XA 1,738,000
J| 869,000
= 869,000
HE U S Xl 2el 1,699,060 1,088,295 610,765
= 2,540
& 270,372
= 1,426,148
AR RAL KR (BEX) 2,540 2,592 NB2
= 2,540
202 044l 2,540 2,592 NB2
= 2,540
01 =2 ull 2,540 2,592 AB2
O el K& 2,540
= 2,540
k= 2| (KEA) 68,800 10,000 58,800
02 2l 20| & 68,800 10,000 58,800
01 @l 258X 68,800 10,000 58,800
O HEOZ220HE EHPY
8,000& *3,0000H 24,000
OZ23HI=E0I=240SPPELHF L
5603 =80, 0000H 44,800
S A mH| &Y 684,500 72,000 612,500
203 & &I H| 9,500 9,500 0
03 Al ZHF=XH R = XH| 9,500 9,500 0
OsiE2rsgE: F8 S 2,000
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< 270,372
s 630,868
06 WEII20HEt2EEZ 901,240 926,803 A 25,563
OnsAZsAsLS X3 A (669 A) 901,240
< 270,372
s 630,868
SEEANASSEE HH 5,000 0 5,000
206 = Hl 5,000 0 5,000
01 MHZ 4l 5,000 0 5,000
OZEAAE & MM 2,500& *2,000H 5,000
sSttERs2s 36,980 36,900 80
202 04l 3,900 3,900 0
01 = LH 4 di 3,900 3,900 0
OsSa2 MEBsA &4 60,0008 3% *152 2,700
OFSAM DI LUE 9
60,000 «2H 10 1,200
301 et 8= 3,080 3,000 80
09 HALAHIEA S 3,080 3,000 80
O=S4E HNEHEHAL It H 24
200,000& 200 & Xl *53] 2,000
OsSatgE 9 2ogH 24
60,0003 *3H 6L 1,080
307 glz2tol & 30,000 30,000 0
02 QIZtFAE XS 30,000 30,000 0
OU S Al ZH= 8 A 2,000,000& %103l 20,000
O4+CTAXY SSHS X HeH 3 Al
2,500,000& x23| 5,000
O3 AHUZE =ZEME M
2,500,000& x23| 5,000
st MAKEMAH 2= 3,107,584 1,021,326 2,086,258
= 6,284
< 15,243
e 3,086,057
stE AEM2MED &EX 36,000 45,000 A 9,000
402 RI2EX20| A 36,000 45,000 A 9,000
01 RIZERt2E X 36,000 45,000 A 9,000
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< 14,400
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01 RIZERI2E X 36,000 0 36,000
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6,000, 000& = 12CH *50% 36,000
< 14,400
e 21,600
ParzdE MlFS2SH(RHA) 26,490 53,540 A 27,050
201 ¢er24] 12,450 1,500 10,950
01 At 22l 12,450 1,500 10,950
OsdtE AR BAES AEIH M
500& *1,50000 x2& 1,500
ORH= e-HHA NIEME SsHE2 4 10,950
—QZ0IN SH=SAHI(EE HH, 4AES
M) 3,000,000& x23| 6,000
— 2Z0t3 HOlIXl Mol
330,000 *307H 2~ *1/2 4,950
202 044l 2,040 2,040 0
01 = LH o4 1l 2,040 2,040 0
O LK EA AI2F &= 60,0003 3«4 720
OMXREHdH AlZ2nz =
60,0003 x2H 5 600
OMRREANE NEEH 60,000 x3H 42 720
402 RI2EX 20| A 12,000 50,000 38,000
01 RIZEAt2E X 12,000 50,000 238,000
ORSTH(IMAE) X 48,0003 *5007H *50% 12,000
Prstts MIRE T3 (BX) 9,094 13,786 A 4,692
= 6,284
< 843
[ia 1,967
301 et a3z 9,094 13,786 A 4,692
= 6,284
< 843
s 1,967
MIIEE43 9,094 13,786 A4,692
OGAPAI S =0t ot HAHHl X & 9,094
= 6,284
< 843
s 1,967
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SN WSS
HE: sAsE0 4E B4
Sel SN2 ANRSHH PE CERED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
B Ml sot 2SS O 2 I 3,000,000 0 3,000,000
301 LEtE A= 3,000,000 0 3,000,000
1MIIEBEAS 3,000,000 0 3,000,000
OH THHH=sIt 2 FH MY K& 3,000,000
MBS EY 76,000 72,000 4,000
< 2,000
[ 74,000
ASTMASLHLE 71,000 72,000 21,000
201 L2l 28,000 34,000 A 6,000
03 A2 Z Hl 28,000 28,000 0
ORAUASHASSIAIY X IS M=
5,000,000& x13l 5,000
OYBRAYSH E2(4, 54 YH)
11,500,000& »23| 23,000
202 o4dl 1,200 1,200 0
01 = LH o4 1l 1,200 1,200 0
OASHSAES XA 60,0003 x2&H 43| 480
Oal s A 60,0003 x3H 43| 720
206 M= Hl 15,000 15,000 0
01 =8l 15,000 15,000 0
OEBANAEINSAETTY 3,000& *5,000H4 15,000
301 L2 LS 11,800 6,800 5,000
09 HALAHIEA S 11,800 6,800 5,000
OMBMARHS 98 W0
60,000& *10 23] 1,200
OASLH A HA AL LM E &
200,000& 400 & Xl *7 3] 5,600
O XNEAA ALY 88X A
125,000 x20H »23| 5,000
402 2I2H X201 M 15,000 15,000 0
01 RIZEAt2E X 15,000 15,000 0
O=s2d¢E ZAHME K
1,000& %2, 00001 * 15 Xl *50% 15,000
SAS ZIC0ONY HEMAXA 5,000 0 5,000
< 2,000
s 3,000
307 glz2tol & 5,000 0 5,000
< 2,000
fia 3,000
02 QItFAE XS 5,000 0 5,000
OsAE ZHOL WY MEXH 5,000
< 2,000
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SN WSS
HE: sAsE0 4E B4
SRl ABIIBAYRY EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| | | o 3,000
NEESAIE & Zeed 1,231,000 800,000 431,000
& 1,000,000
< 84,000
e 147,000
SEMY SHAY 871,000 800,000 71,000
& 700,000
< 84,000
s 87,000
SZ W2 IR &Y 871,000 800,000 71,000
& 700,000
< 84,000
s 87,000
202 O4dl 4,000 14,000 A 10,000
& 4,000
01 = LH 4 Hi 4,000 4,000 0
OZZW NEIIXIALL =&
20,0003 x2HE 100 4,000
& 4,000
307 glz2tol & 407,000 546,000 A 139,000
& 336,000
= 60,000
s 11,000
02 RIZHEANEXS 407,000 546,000 A 139,000
OZZW NEIIX ALY 407,000
& 336,000
= 60,000
[ia 11,000
402 RIZ2EXt20l ™ 460,000 240,000 220,000
& 360,000
< 24,000
[ 76,000
01 QIZERI 22X 460,000 240,000 220,000
OZZW DNRIIIX AL 460,000
& 360,000
= 24,000
i 76,000
SHELE S 360,000 0 360,000
= 300,000
s 60,000
AEtAAFoEetRE 360,000 0 360,000
= 300,000
s 60,000
402 RI2EXt20| ™ 360,000 0 360,000
& 300,000
[ia 60,000
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